PART - | / YT - |
REASONING ABILITY / 7% &9al

A girl is facing East. She turns 225° in the
antlclockwise direction and then 135° in the

clockwise direction. Which direction is she
facing now ? .

(1)
(2)
@)
(4)

North-West
North-East
West

North

If triangle represents men, rectangle
represents educated, circle represents
employed and square represents married then
identify the number that represents the men
who are educated and employed but not
married.
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1. & @S9 %1 9@ qd fam &1 3R &) 78 225°
e (S W faada) fewn F gt # o
135° sfeumad (vt #1) fem d qedt @1 s
o g4 fw o it s R ?

(1) SW-ufv=H
(2) SW-T /[_)7
(3) ufv=m
4 IW
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Two statements are given below and they are I 3.

labelled as Assertion (A) and Reason (R).

Assertion (A) : Orgamc matter is important
fot i a:eps

Olzgamc matter liberates
mh;efals in the soil.

Select correct answer—-mnth the help of code :
(1)  (A) is true but {R) is false.
(2)  (A) is false butR) is true.

(3) Both (A) andR) are true and (R) is
correct explanation of (A).

Reason (R) :

(4) Both (A) and (R) are true but (R) is not
the correct explanation of (A).

Five girls R, P, S, T and.Q are sitting in a row
facing towards Ncﬁ;ﬁbut not in the same
order. ‘P’ is sitting @ﬁie left of ‘R" and "Q’ is
sitting to the right ) g 1 = " and left of ‘P, ‘R’ is
sitting to the left of='5'= Who is sitting in the
middle ?

(1 P =
(2 S iy
3) R
4) Q

Six students of class-X A, B, C,D,Eand F | 5.

have different he1ghts ‘D’ is shorter than only
three students. Fis faﬂer than A but shorter
than E. A is taller tha’nrD B is not the shortest
in the group. Who ;sfhe tallest student ?

(1) F

2 E

(@ B

4 A '
(OF40)
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4= 9 F94 fau mu # 3 3% sfvmaa (A) o

@& (R) F1 F2 fez w0 &

afmdd (A):  Sfaw (F@EfAw) gad wae
& fore gyl ¥ |

& (R): Sifers (Faifre) gard gt o
it F1 37=d ¥

F2 F TEIA ¥ W@ I F1 999 1 |

(1) (A) 9@ 2, T (R) 7oA 2|

(2) (A) TEd 8, T (R) TE ¥

(3) (A) 7 (R) 31 & 9@ € 31 (R), (A) #1
T AT |

# () F(R) T A FEE 9 (R). (A) F
TE = TE 2

uis ==fFA R, P, S, T 37 Q UF ufE § IW
fewn =1 W%Wh@?ﬁﬁﬂmﬂ
THASI T PR F A s AS 2 QT
FTE AN AP F A A A B IR S F
A AR A2 B A9 H #FE A2 T 27

0% P

2) S -- - - "
3) R T ePe S
& B Te

F-X FBETIHA,B,C, D, E AW F F 7R
F-FEME | D FEA AR gH A gA R,
AT fFqERT@RIA DA B
Wﬁmmqﬁ%' F4 T B FaH A4
€7

—€ 3
1 F —F F
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@ E —0
3) B -6
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6. A statement showing relationship between | 6. =1 ww 4 fafirm el & s % gy
different elements is given, followed by two RURIRE| (J fa% a1 ) frepd I B

ons, I and II. Assuming the T Rgm )
;:t.::;lr::!slit to be true, find out which if the | mi?:?ﬁ??ﬁgﬂg:wﬁ
conclusions is/are definitely true. :: A
Statement: F =2 I<N <G = E<R mm:F?I§$G=E<R
Conclusions 1: E > F s | _==£ "

I:R>1 H‘};)I
(1) Both conclusions I and II are true. (1) < freed 1 9 11 59 &
(2) Neither conclusion I nor conclusion II (2) A frepd 1 7 & freed 11 T #
is true.

(3) Only conclusion I is true. (3) Faa fr=rd 1 ¥ 2
(4) Only conclusion II is true. (& Had ﬁ'jﬁill T B

)

.

7. R’s father is the only son of ‘B’ and brother of { 7. R &1 fidl, ‘B’ FIgFaa 73 € 3P = )

|

‘P’. ‘A’ is the daughter of ‘B’ and sister of '{\'., ’B"ﬂﬁﬂ'ﬂ%ﬁ QY FAEALI P, Qﬁ_‘&ﬂ}
‘Q’. How is P related to Q ? Gaifed €2 ;__f @ﬁ{iﬁ \ O b
(1) Nephew (1) W = T N, o
(2 e R &P

(2) Sister %
(3) Brother | (@)

i "
(4) Niece ! pA) st

|

o U T F1 L EFA F gO, T A F

8. Pointing towards a gentleman, Sonia Sai"i' i : .___-??_ g ¥ o A Al 3"
“His only daughter is the sister of my Son's ST T I;‘ 33 e 37
father.” How is the gentleman related to g, FIf ______ SEIRE
Sonia ? , =
1) ¥R '
(1) Brother 1 H
7) T&y/S3
(2) Brother-in-law i (2)
¥ 3 qﬁ
3) Husband i 3)
(4) Father-in-law ! @ FTE
0 R8
0
h qﬁ: 4
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Identify the diagram that best represents the | 9.

relationship amoﬁ_g acids, bases and!
chemicals,

T E—

&3 !
<t |
3 !
) o0 g
!

3)
|

@)

10. Select the term that replaces the question | 10.
mark (?) and compléte the given series. {
4M3, 607, 8Q13, _._?  12U31,14W43 |
(1) 10821 == ;
(2) 8RI15 |
(3) 10S15 E
(4) 10R21 :

11. Six boys M, N, O, P, Q and R are sitting in a f 11.
circle facing the centre; ‘M’ and ‘O’ are sitting !
together and alse “P’ and ‘R’ are sitting :
together. ‘R’ is sitﬁ_l_ig'to the left of ‘Q’. There ;
are two boys sitting between ‘M’ and ‘Q". ‘N’ ;
is sitting left to ‘O’.~ Who is sitting in between |
‘P and ‘O’ ? an i
1) R _ |

= -_ I
@ Q w i
3 N |
4 M |
E =
LAB-2023 st 2

39 3G Fl TBIH F1 N 3 oqn 3 707
% &= &Y 1 Ta9 =37 2viar ¥

m@)@

(2)

. @
NE

SIREFIFRF A GAE A () F o W
A 3 e F1 v A
4N13, 607,

2, 12U31, 14W43
s

(I 10821
(2) 8R15 | 0519
(3) 10515
(4) 10R21

S g% M, N, O, P, Q A1 R U%F gaw

3OF F2 F AR GE FF A2 70 E M 3

‘O TF WY 93 TR A4 P 3R R vF @y
WEE R, Q FAA AR AR M Hw
‘QFAEHATF IS T E N, O F A |
IRFAJZIP IO F A= E FH A3 27

A 6 o
1) R o ”
(2 Q
& N P 6
WM ~e .
Ul PR,
&@Gﬁ O R8
“e
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12,

13.

Two Statements are given below, followed by
tWo conclusions numbered I and IL.
A5511Hling the statements to be true even if
they seem to be at variance from commonly
known facts, decide which of the given
conclusion(s) logically follow(s) from the given
statements.

Statements :

1. Some tables are chairs.

2.  No chair is Almirah.
Conclusions :

I Some tables are Almirahs.
II. No table is Almirah.

Both conclusions I and II follow.

1
(2)

Either conclusion I or conclusion 11
follows.

Only conclusion I follows.

(3)
(4)

Only conclusion II follows.

Samir walks 5 meters towards East. He then
turns towards his right and walks 10 meters
more. After that he turns right again and
walks around 10 meters. Then he takes
opposite turn and walks 5 meters. Which

direction is he facing now ?
1)
(2)
@

Soulth
West
North
(4) East

ExE Vo
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Fafore i fe o Forsel & & FH-71/3 fan m
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1. FBAS FEE gl

2.l e T e

e :

I 9 U9 e €|
I FYEHS e AR 2
ﬁaﬁlﬁﬁﬂﬁﬁﬁmﬁ%l

ﬂ;ﬁ:ﬁﬁiﬂlmﬁﬂﬁllﬁa—ﬂm%l
T(\t%rqﬂ - 6‘*3”2"1
Faa frewd | fFam 21

St e 11 e

(1)
)

()
(4)

HHR g8 F 3A 5 HZ 94491 2 | =g A7 2
3R gz § 3R 10 927 F=a 2 Ay A
foFe & 31 2 i qean # 3w 10 w7
g1 & fFm fem =7 5w 20

(1) e
At
Q) W o
(4) T
R6
—
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14.

15.

L7

Given below is a question followed by two | 14. = & vv9 fom R, foas qva| @ #9A |

statements numbered 1 and II, each
containing some information. Decide which

of the statement(s) is/ are sufficient to answer
the question ?

What is the difference in the age of ‘F’ and
‘E'?

Statement 1: “E’ is 10 years younger than
g G

Statement Il : ‘T’ is 5 years older than ‘F'.

(1) Both statements I and II together are

necessary to answer the question.

(2) Either the statement I alone or

statement I alone is sufficient to answer
the question.

(3) The statement I alone is sufficient to
answer the question while the
statement II alone is not sufficient to
answer the question.

(4) The statement II alone is sufficient to
answer the question while the data in
statement I alone is not sufficient to
answer the question.

In the given continuous pattern series some
of the letters are missing. These missing letters
are given in that order as one of the four
alternatives below the series. Find out the

correct alternative.

CB Alc CAI BCAk#_
(1) CBCBA @
(2) CCBBC

CBCBC

(4) CACBC
EZE

LAB-2023 7%t
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R i YRS LS T T B S ) T

ot
wn

AR 11, 7IF F8 THFR Ofeq, few o E ) faoig
Fifau fF F9 T/F F99, 797 F IW 24 7]
T T/ 7

..T'

e
F 3R E & g F AR FL? €

mml:'f.‘rﬁlomaa‘ra%i@/T

AY;

FEAIN: T,F dsaaaznd £

W FAE R e v oW
I 23 F fAu wEvas ¥

(2) A FFT 1 FFA T FEA N THFA 997
F1 I 24 7q 1A B

(3) FUA1 AFA ¥ YA 1IN 29 29 7Ara #
TEF FEA N FFA T F IW A ¥
I 77 ¥

(4) FEF I FFA & 9 T I 29 2 A
T SEfE #9491 FFA, WH F I 2 1
I T e

3 T Tad U2A g@en 4 F2 AW A9 £ A
@ el 1 @ F A4 =w fawed F w9 9
7t %0 | fea T ¥ wE fawen 9@ Ffsw

CB_AC _CA _BCAC__A

(1) CBCBA
(2) CCBBC
437 CBCBC
(4) CACBC
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16.

17.

18.

19.

LAB-2023 74

PART - Il / ¥T7T - 1
GENERAL AWARENESS / YN WISl

Among the following which planet has the
largest number of moons ?
(1) Mars
(2) Saturn
(3) Mercury
(4) Venus i
Which of the following Fundamental Right(s)
is/are guaranteed also to the non-citizens by
the Indian Constitution ?
(@) right to freedom of speech and |
expression
(b) right to life and personal liberty
(c) right to assemble peacefully and
without arms
Choose the correct answer from the codes
below :
(1) Only () and (¢)
(2) Only (a) and (b)
(3) Only (a)
(4) Only (b)
A magnet exerting a force on another magnet
is an example of ‘ i
(1)  Electrostatic Force i
(2) Gravitational Force
(3) Contact Force
(4) Non-Contact Force
Which of the following wildlife sanctuaries %
was notified as a tiger reserve in October, |
20227 !
(1)  Srivilliputhur Megamalai Tiger Reserve |
(2) Ranipur Tiger Reserve E
(3) Kamlang Tiger Reserve i
(4) Satyamangalam Tiger Reserve |
EZE
8

16.

18.

lgl

fr=ifea d @ form oo § a=misl #1t 9= g
afue &2

(1) #m
(2) w4
G) dTH
W TR

Rt Ffgur & fFrifed § @ #6 @/3 s
AFR 3% ot yem@ fFn T/ fen moE
WId o TR TE E 2

(a) a1 3R stfv=afe %1 @aaa 71 afusn

(b) SitaA 3R Fafaas @dFa F1 AfUFR

(c) fam foredt vrea & wifagof gwaa 89 (=3sm)
F AR

ﬁmwﬁﬁanﬁmgﬁq

(1) % (a) 3 ()
) Fad (a) 31 (b)
(3) e (a)
(4) %= (b)

fr=ifea 3 3 feras emm 22
(1) Sgodifas s
TEETFHYU F5

H9s 96 (W9 5a)

(2)
%)
) E Med 5 (fammst =9)

(4
AR, 2022 ¥ F=ifwa § 4 fag 321 519
AR F A AR F w4 st
foran man ? )
(1) SfeeetryeR e =m smfut

() TAIR =M smfyts

(3) HHAT A IRfEITH

(4) HEHTAH =Y ARfufg

R8
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20. What percentage of the earth’s water is fit | 20. o1 9fqwd -5 wra & 39am & fou 3973

for human use ? ! -

(1) Only 2.7% % (1) Fad 2.7%
(2) Less than 1% () 1% 49 &4

(3) Only 70% i (3) Had 70%
(4) Only 30% (4) Fad 30%

21.  Which of the following countries won all gold | 21. fero uf¥rar gan Zae 2fm Sfwaafer - 2023 3

medals in under - 15 and under - 19 15 99 FHi emgﬁw (37==T-15) 3R 1994 |
categories in the South Asian Youth Table | 9 3 (3=T-19) F Aforat & Freaifa § |
Tennis Championship - 2023 ? | f&a 2w 3 it =l 92w ra feu?
(1) Maldives (1) w=EE
(2) Sri Lanka (2) gEH
(3) Bangladesh (3) FTARY
(4) India (4) W
22.  Which film won the Academy Award for the | 22. fr=ifera d A fa feea 1 95 3 st rean

Best Documentary Short Film at the 95 | H gelegpe gaf=aa =g freq #1 AFed g
Academy Awards ? aen 2
(1) Women Talking (1) fom= =
(2) Top Gun (2 29H
(3) The Elephant Whisperers l (3) < ferhe famwd
(4) An Irish Goodbye (4) T mafe TZAE
23. What is the World Health Organization | 23. mmwzw* A7 fafF=
(WHO) norm regarding the Doctor - ! SAHEAT AT F1E -
Population ratio ? |
: 1000
(1) 1:1000 ll (1 1:10
(2) 1:2000 | 3 1A
1:100
(3) 1:100 % @
4) 1:500
(4) 1:500 | (4)
E3E R8
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24.  Which of the following pairs of the country | 24. f=ifera <vif sfk 37% @A fewifan =@l #
and its official currency is/are matched © Ay (WESE) a1 & 4 %493 I

correctly ? TRE?

(a) Bhutan - Ngultrum (@) e S
(b) Austria - Euro (b) g - T

(c) Ghana - Cedi (c) = - st
(d) Argentina -  Real d) st - faEE
Choose the correct answer from the codes Fr9 fou T e § @ GEl IW gHA :
below :

(1) Only (a), (b) and (c) (1) %9 (a), (b) 3 (0)

(2) Only (b) and (d) (2) & (b) 3 (d)

(3) Only (a) and (b) (3) &ad (a) 3N (b)

(4) Only (b) (49 F (b)

g9 2022-23 F WA ¥ 3nfds e § feu g,

25. As per the Economic Survey of India j 25.
T4 2021-22 ¥ TifEAF AFHS & FFIR ITd &

2022-23, the maximum percentage of schools

in India have, which of the following facilities stfyeran wfawra el ° freifea 9 9 9 =
according to the 2021-22 statistics ? gfaun Iueey ® 2

(1) Libraries | (1) Y&Fe™d

(2) Computers (2) HFHHX

(3) s & fore viamem
(4) e & fog e

(3) Girls Toilets
(4) Boys Toilets

Tt e Aifd (T2 @), 2020 F TR e
foren =t 78 foen W iR wETEEl #:§oEE
# forg ga-a (] Te) F1 wiws fF m

26. As per the National Education Policy (NEP) | 26.

2020, which age group is covered under the
New Pedagogical and Curriculum Structure

of School education ? g7
(1) 3 to 18 years ; (1) 39 d 18
(2) 4 to 16 years ! (2) 44 @16
(3) 3to16 years } ) 38 A 16T
(4) 3to 17 years ; (4) dad @17 =
E3E ”

LAB-2023 B 10
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27. Who among the following is the author of ! 27r ‘gt e 39-fafew wa1 =9 =feq’ a9 RLaes
the book ‘Poverty and Un-British Rule in !

fSEd Ut WA & w0 seferan WA
India” which offered a criticism of the British l FINE F R S (fafew) F1 sera #

Rule in India for its economic impact ? ! T 2, 3% oGS 3 £
(1) Badruddin Tyabji | (1) EEEA qFash
(2) Dadabhai Naoroji | (2) TRE AR
(3) AO. Hume } (3) T3 Tm
(4) Annie Besant = | (4) T I
28. Among the following states pii imdla which | 281 foen =1 anfds frofa (v wg € 3m). 2022 ®
state has the highest proportzm‘mof children ! FTER FH H ZH F FATE o T F4 |
in class I to VII who take paid tujtion classes T F=0 VI (W forg asft faenerdi §) ¥ w41
(in all rural schools) as per thf;rAénual Status | %1 gaq Afvys e wra § f5y g § o
of Education (ASER) 2022 ? ?
(1) Gujarat ! ?1) LENG] G*(}H Z'Y
(2) West Bengal % (2) ufvem 3=
(3) Rajasthan l 3 w™E
(4) Kerala | 4) F=
: |
29, !

Which of the following fuel has the highest | 29. fr=rifa & 4 fam ¥sm =1 S5 um waifirs:

calorific value ? | £
W UG 2 | o
(2)  Hydrogen @
(3) Petrol li 3) W
(4) Methane % i 4) foem
s oo I
30. Whose decision is con51dered to be final in ! 30. NN diaum o femfEg s & T
case a question arises with regard to the ‘ i 998 99 1 39EG ¥ gau o W =3 m
disqualification of a member of the Parliament ! T favrg sifaw o s 22
according to the grounds mentioned in the !
Constitution ? i
(1) The Chief Election Comn‘ussmner of % (1) G F1 q=1 et s
India v l ‘ - ‘
(2) The joint sitting of the Speaker of the ; (2) Eﬁa-.‘gm Y 3R T {9 F qumafa #
Lok Sabha and the Chmrman of the | HIH d93F
Rajya Sabha - |
(3) The President . | (3) Tegafd
(4) The Speaker of the LokSabha ! (4) TFHEH HAH
LAB-2023 Eﬁ '7 11 Re
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PART - 1)

(31 - 35 ) Read the Passage given
answer the questions that follow,

While engaged in the laying of a new railway }
line, T had a miraculous escape from an awful |
death. I lived in a small townshi
Some twelve miles away,
the works yet I often went

P, but my work lay !
and I had a small tent on l
to the town on horseback.
On one occasion, an accident happening to
my horse, I got a lift j g i
someone might do me a similar favour o
back. But this was not to be, and I ma

|
|
i

nmy way
de up my
tening the
hills which

mind to do the journey on foot, shor
distance by taking a cut through the
would save me about six miles,

To take this shortcut, it was necessary to
Cross an ostrich ‘camp’ or farm. To venture across
these camps in the breeding season, especially on |

foot, can be dangerous, for during this time the male
birds are extremely ferocious.

i

31.  He generally slept in : é

p«) a tented accommodation !

(2) the waiting room i

(3) a train coach i

(4) a staff quarter |

!

32. Study the following statements. i

(A) Male ostriches are ferocious by nature. i

(B) To pass through ostrich farms can be i

dangerous. |

gl’) Both (A) and (B) are true. i

(2) Both (A) and (B) are false. g

’(@ (A) is an opinion and (B) is a fact. i

(4) (B) is an opinion and (A) is a fact. i

[=]

LAB-2023 {5 12

34.

35.

GENERAL ENGLISH
below and i 33.

Once he had to travel to the town :
(1)  getting a life

(2) on a local tmm

(3)  on foot — -

ﬁf) on horseba;éig -

i
"

The narrator wa&ev&khg in the railways as :

#) aguard
(2)  a ticket collector
(3) a train driver

(4) an engineer.-
‘To venture acress an ostrich farm ...’

The underlined word can be correctly
replaced with :

(M travel
(2) move
(3) dare
(4) go

(36 - 40 ) Complete the sentences given below
with the help of oiitions that follow each
sentence. )

36.

The new phone __ the competition.

(1) blows over
(2) blows out
(#) blows off
(4) blows away

R8
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'37. Ram along with Shyam ex pos Yot

to come.
@) were .
(2) have been E’ﬁm
@) s .
(4) are ( -_j ()
" 38. She when I”Zéami the hal

(1) was singing i

(2) have sung (N
(3) has sung
» is singing
39. Ram s - same huv that | lilkesd row s
(1) the
(2) no article __ )
@ b o)
(4) an &5
40. I___"_ th? playw to reac’h e froer

bank.

(1) cut through
(2) cut down
(3) cutinto

(4) cut away

41.  Which of the underlined parts of e ffiomwing

sentence is incorrect 7
He had hinted that ¢ prants frd R
(A) (B) & 1))

A) (D)
2) (A)
(3) (B)
4) (©)

LAB-M%

42

f’ RO & N
e

L o

© NN WO

““wace the option in which the given

#tanse has been changed into passive voice.
“ate 1 letter.
' letter has been written by me.
' letter had been written by me.
' letter is written by me.

\etter was written by me.

“# awe il punish whosoever is guilty |
"tk of the following words can replace the
wAertmed word ?

mpudent
#  audacious

Anncent

Y

utpable

Vee Tk

< do not accord with mine.

ek one of the following words is opposite
* meaning to the underlined word ?

1ach
A coincide
> 10Tee

1) orrespond

‘nnnse the option in which the following
“wrde/phrases can be arranged to form a

srrect sentence.

nav live
BY eatso
"y W e

N that we

¥ (), (B), (D), (A)
»n (DY, (A), (©), (B)
W (B), (D), (A), (O
1 (A), (©), (B), (D)

e —
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PART - 1l

GENERAL HINDI
Frefrfiam wrerter =t e g 36 ot s 49. uRAg §
i i : T 3. A7 faswm #1 ufey .
m(46-50)%mwa&m: i ST Ffera - 3
WA H 3 faeelt sl et S wwed | , -
HEPIT 3 19 fabr it wfiren o 39 oo 9 s | L) Baan T~
X fean wrdh gefy 7 3 Wt % e i (2) TqusH A
1 ST e 3 o1 11 4 2 fern e =
W%ﬁmmwm%ﬂﬁiﬂaﬁ' (3) W‘Jﬂ’fﬁ—_
Tl WRG ¥ soW fomR, seR-srEer i R el
i R (9 Tt snfagi
T Hh A Fef § Tt o forn &1 et Y i
A ;mmﬂﬁ%l aﬁmﬁmm&ﬁql
o R R &1 e 35 | 50, s gt o e 7 o
1) s
46. Trfafe & ¥ yrd gt ) e =i & (@ S
) SR S () ST
(2) S & R | @) @W_
(3)  ShIcTSIET B - ey -
>0N -
| 51. frfefad 4 =df =i gfe 4 g e @
i
47. YA G&Rfd & aifu= & € - ! (1) =«
(1) el weptdi %t qued ; (2) s
(pr T wrgh % o3 T | v
(3) faeht famm '! .
(4) facei sfet |
|
{ 52. fr=fafEd § =93 w@fy T
48. WA ¥ fageft sfqai & s | #0 gsn? ; : = T €
o 0 | (1) w@rE
(1) e sifedi & e 59 ovE gy |
(2) faeef wepfaal & wafaa g2 i (2) |
(3)  wWdr TEpfa o g o e | 3) fes
) “"dmw_ﬁﬁﬁmﬁﬁwwm|} (4) faim

B o
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53, frfafed | syg o ®
(¥ =R 3T F forg @ e R
(2) YOF I ¥ wfafafy am A
(3) feRal ita m @ of
(4) I IFE g e

54. 'OR 9% W dua {0 @w @ of So-oe 1
T e ufed W aTefen ¥ -

(1) 9
2 ¥
@) =

@ e

55. frefafed & srama facmmet wss-qm 2 .
(1) g -Hg
(2) Fr-=qfa
(3 - Ha

(4) ©H-qE

56. 'R F FIF IGel o A F FAC TE A= |

?:

(1) SFEETTEA
(2) Tt

(3) TETE

(4) STFETET

E =
LAB-2023 @&

o — S " —{— T ——

15

60.

‘g Ty Sy Aifa & fefafes 9 9
TIF A4 T -

t4
(2)
(3)
(4)

f&et 3= =1 fF =79 g9z 98 3 &
A9 71 H F v
wEEEl 21 91t |

e b sty #t 2

"eEn zE e = w9 wd 2

T 7 A
qafed #7240

TSI

fr=fafaa | =i’ v #1 wafEarE 74 2
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61.

62.

63.

64.

PART - IV / 417 - IV
SUBJECT SPECIFIC KNOWLEDGE / fivg fiftre 7/
A plane mirror is arranged horizontally. A i 61. HHAA I4U I Afqs ®9 F At fora sm 3,

ray of light is incident on its centre from a
fixed source at an angle of 45°. The mirror is
rotated about its centre anticlockwise by 10°.
The reflected ray is rotated by

N/

(1)
()
@)
(4)

anti-clockwise, 10°
anti-clockwise, 20°
clockwise, 10°

clockwise, 20°

A sharp image of a distant object is obtained
on a screen by using a convex lens. To
determine the focal length of the lens, you
need to measure the distance between the :

(1)
(2)
€)
(4)

lens and object.
lens and screen.

object and screen.
both (2) and (3).

Which of the following is an example of a
chemical reaction ?

(1)
()
(3)
(4)

Burning wood
Crushing a can
Boiling water

Dissolving sugar in water

Which of the following is an example of a
corrosive substance ?

(1) Hydrochloric acid
Water
Sugar

Salt
EiE

LAB-2023 &7
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62.

a
»

o)
-

T F T foror 59% g W 0 fafvaa &
q 45° F I R A9faa Bt 1 Tq0 B TmE
&% ¥ 10° Irrad YHET S €1 wEfda fam

L gt ® 1

amEd, 10°
qmEEd, 20°
Tferomas, 10°
gfEomad, 20°

1)
()

1<
(4)

3T AE F ITAM FF fFEH @ A o =
e yfdfara o€ w0 yra fF sen 21 <im0
Hie dar fvif| F0 F fau, snow 23 36
F &9 1 g U9 F AETHA S

(1) =1 3 aq)

(2) @1 3 =E)

(3) & I A

@ (2) 3 (3) 2

= 4 |1 #r 7 mamfas wfufedn =1 79
®?
(1)
(2)
2
4)

AHS AT
TF FA F1 FHAT
T ZETeA
U H S F e

7 4 8§ 17 gams e %1 e 27

()
(2)
A)
(4)

qrET
EIEil
THF

RE
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65. When an iron nail gets rusted, iron oxide is ! 65. & e FI FIe T AT AT & A v Afaare

formed : ! AR

(1)  with increase in the weight of the nail. % (¥ Fa & asd | 3fs F 99

(2) without any change in colour or weight | (2) S F T T F FE Feera fwu fam
of the nail.

(3) without any change in the weight of the (3) A & s ° F1E agad fFu fam)
nail.

(4) with decrease in the weight of the nail. (4) Wi F a5 F FH & Y|

|

| | |

- 66.  Which laboratory apparatus is used for | 66. T 2T % 374 F1 W19 & fevw g wamremen
!
|

measuring volume of liquids ? ITH0 F1 3941 fF e 2 7
(1) Test tube (B TETA
(2) Bunsen burner (2) THEATR
(3) Beaker (3) @r=T
(4) Graduated cylinder | (4) Hwifwa fosize
67. What is the purpose of a bio-safety cabinet ? | 67. 33 Han Hfa7z =1 3293 Fn1 37

o

(1) To provide a place to store biological ! (1) SfaF o 1 =0 F73 F fom e w2
agents. | F4 #F fom
(2) To conduct experiments requiring high (2) =2 A9EAE F A@YIFA 99 T F13
temperature. & form
(3) To provide a safe place to work with () aF S F g Fm I F feo o=
biological agents. ed T wem #73 F fou
(4) To remove fumes from the air. (4) T Y 4U F EEH F oA
68. What is the approximate normality of dilute { 68. T waTeen ® 99 A 1 AqHiAE "
acids in a science laboratory ? 72
(1) 4N (1) 4N
(2) 8N 2) 8N
3) 1IN (3) 1IN
(4) 2N (4) 2N
E O]
LAB-2023 5% 17 R8
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69.

70.

71.

72.

LAB-2023 74!

What should not be done if a student
accidentally inhales SO, gas ?

(1) Let the student inhale ammonia
vapours.

(2) The student should be given fruit juice
or lemon juice to drink.

(3) The victim should be taken at once to

an open area.

(4) Let the student breathe deeply.

When sodium bicarbonate powder is added

to acetic acid, a gas evolves. Which one of

the following statements is NOT true for this

gas ?

(1) It dissolves in a solution of sodium
hydroxide.

(2) Itturns acidified potassium dichromate
solution green.

(3) It turns lime water milky.

(4) It extinguishes a burning splinter.

What is the function of a stopwatch in a

physics experiment ?

(1) To record time intervals.

(2) To analyze data patterns.

(3) To measure temperature.

To determine volume.

(4)

What is the boiling point of water in degree
Celsius ?

1) 273°C
2) 373°C
(3) 0°C
(4) 100°C
EE

69.

70.

71.

2.

18

afg F1 B Tord ¥ SO, T 3T A 7AW g
1 & T = ?

(1) BT & ST arsd o S

@) fornef #1 & fofw well 1 @ 71 g 3
g o1 |ifeT |

(3) ifed I T G A WA S =g

(4) BE® TR A

39 fafes ufge o Gifeay apFEHe T8

o s &, @t e fAwad ®) W F

fore frafafad § @ 19 @1 F97 38T €72

(1) ¥ Gfeam ergiFRe & =a | g S
Tl Soin Telegrad - Erarzy

7z Ineitg Qi SR a1
FL A R

TE 91 F g F1 gfum F2 2 2
I TS Ferdl gé BN F qA 21 2 |

()

©)
(4)

difqst wam § =igata #1 & @ #0127

g Fdua =g #3 F fau
<1 ¥ =1 faveram w31 F fam
q9HH =591 F fou

T fuifa #3 F foo

Iy
(2)
®)
(4)

fetit Afcaag o a1 s3o=is F 27

273°C
373°C
0°C

100°C

(1)
(2)
)
)

Ré

|
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73.

74.

75.

76.

Which substance is correctly matched

its storage container ?

(1) Hydrofluoric acid, glass

(2) Bromine, dark col'euxed glass
(3) Organic solvents, £lasnc

(4) Acids, metal

el

| J' ool

What are the duties of ajlab attendant
(A)
(B)

To maintain the lab equipment and
supplies.

(©)
students.

Choose the correct answer :

(1) (A)and (C) onlyh

(2) (A), (B) and O

(3)  (B)only -

(4) (A) and (B) Onl)

Which lab equipment 5 used to hold test |

tubes during heating ?
(1)
(2)
3)
(4)

Clamp
Holder
Pair of tongs

Tripod stand

In fireworks, the greg; ﬁame is produced
because of : -

(1)
(2)
3)
(4)

mercury P

potassium .
sodium

barium

LAB-2023 &7

== T W OEE YUER 919 | uE qufed # 0

T WS TR H HiE
% = 6

|74 = F= s amaa

To assist the teacher with experiments. |

To provide safety training to the |

i

LJI

18

<, WA TA & 919 GEEdl 4 & A0
T T A Agfd 1 a9

= =7

5l

D I E O e YeE % F feu

- = =
=0T (A) 7AW (O

3‘ ., Eri ‘ml(_'j

maetr | B
i3 e

A) A7 (B)

FET w0 3 AE B UEE F fAu wm g
e 9RO 1 39T R S 0

SR

‘;‘l‘
|

TS AT
& Tehmm
L wWTw
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77.

78.

79.

80.

81.

LAB-2023 i

When jce converts into water :

(1)  heat is released
(2)  temperature is decreased
(3) temperature is increased

(4) heat is absorbed

What is the process of separating a mixture
of liquids into its individual components by

using the differences in boiling points
called ?

(1) Filtration

(2) Evaporation
(3) Distillation
(4) Decantation

Chlorophyll is a naturally occurring chelate

compound in which the central metal atom
is :

(1) iron

(2) calcium

(3) copper

(4) magnesium

Which gas is used during photosynthesis ?

(I) Nitrogen
(2) Methane
(3) Carbon dioxide

(4) Oxygen

What are soaps ?

(1) Sodium or potassium salts of heavier
fatty acids.
(2) Esters of heavy fatty acids.
(3) Salts of silicates.
(4) Mixtures of glycerol and alcohols.
EZE

77. W& 9% Ut § ST It 2 a

78.

79.

80.

81.

20

1) o et &
(2) A S R
(3) HE wga

(4) 3o s e &

Wﬁﬁm@ﬂmﬁ%ﬁzmaﬁ

1 FEadt &2 ?i

ﬁﬁm%ﬁnﬁﬁqmm%

a) mw(rvh'@}
2) Ffewrm
(3) IR (=)
@ AR

YW HYN F IE w9 g w1 3990 B
®?

(1) Egrem

(2) R

Q) FEq TR
(4) SRS
A FNR?

() vl %A ufire F e @ driferm wam)

2) YR &3 ufas F we

3) fafawz F o)
4) frowde st veseis 1 fago)



83.

Potassium permanganate is used for l 82.

purifying drinking water, because |

(1)
(2)
3)
(4)

What is the most com
extinguisher used in the laboratory ? |

(1)
()
®)
4)

F o ™

it is a reducing agerlt -/

it is an oxidizing agelgr?g’-_E

it is a sterilizing agent."_;

it dissolves the lﬂ’lpurl_.EIES of water.

II
|

(s

,...
|1 I

n'forr-_iype of fire

Carbon dioxide

Dry powder i
Water

Foam

i

vy

I
|

91

My

I
v

When KMnO, reacts WfﬂT— oxalic acid,

MnOj is reduced to Mnaﬁqd C,0% is |
oxidized to CO,. Hence 15=mL of 0.02 M !

KMnO, is equivalent to : o

(1)
(2)
(3)
4)

What is the purpose of usingatontrol group
in a biology experiment ? © : .

(1)

(2)
©)
(4)

(0 I

25mLof02Moxah cid

|i|

5 mL of 0.1 M oxalic acid
10 mL of 0.05 M oxalic acid
5 mL of 0.05 M oxalic acid

EL 2

-

To test multiple varlab’lés:
simultaneously.

S

= .

To ensure safety durmgf]%e experiment.

To provide a basis for comparison.

To represent a larger population. !

21

83.

84.

85.

neferm T F IwEm 9 F o w s
F & fou fovan s &, =9ifs -

(1) ¥ U& 9999 F Feq Ue2 2

(B T TH AR TS 7

(3) T TH AMIARH T |

(4) F& Ul =i SYfed # U 2 B

AT H W T AT G99 S UEE
Hfomms FH W2

1V FEA SRR
(2) = "=

(3)

(4) wm

¥4 KMnO,, sitFfe® ufaz & m sfufas
F %, MnO;, Mn2* & 31raifaa 21 wmn & s

C,03", CO, | stadiga &1 = 2| zafem
0.02M KMnO, #1 5 mL #7a7 # -

(1) 02M HFfa= ufaz ¥ 25 1
(2) 01 M i=fas ufgz F 5 4

(3) 0.05 M AT ufaz F 10 miL
(4) 0.05 M HiFfas gz & 5 m1

St e wim & fraw wqe #51 39dm 303 5
R FT?

(1) T & 9 | uwfas 3 51 giem 593
& e

(2) WM F A geen gAtvaa =03 F a0
(3) o & feq 3w weH &
(4) TE «E A F AfatAfue #v3 F A



86. What does the term “pH” mean ? 86. “pH” vIsg &1 HY B ?

|
(1)  Acidity or alkalinity | (B 3TRAT AT AR
(2) Optical density % (2) oAfeda T
(3)  Electrical conductivity (3) FfaEE Hewifad
(4) Temperature (4) dm9HEE

87.  For a fire caused by short - circuiting of an | g7 faea wmo & m_‘qﬁr.{ q ot 3 & fou =

electric circuit, what should not be done ? Tol FET aﬂ%—q?

(1) Switch off the main electric supply. 1) 9= ﬁg‘a‘ Ffd s T
(2)  Use a fire-extinguisher. (2) AT =S FT gHT AT
(3) Throw water in the area. @y & H R S

(4) Throw dry sand in the area. 4) & ¥ gEt W@ e

88.  Which of the following acids (A-D) along | gg. f=iferfaa & & fra a1 (A-D) #1 3TF If=
with its appropriate salt should be used to T F 1Y, 4.5 F pH I 9% 391 #73 3
prepare a buffer with a pH of 4.5 ? e s9gm fam s =nfew 2

(1) C K,=18x10-5 (1) C K,=18x10-5

(20 D, K,=23x10"% (2) D, K,=23x10"9

(3) A K,=1x10-3 (3) A K,=1x10-3
r a -

(4) B, K,=29x10"4 (4) B, K,=29x10-4

89. Which of these is a primary standard ; 89. T A FNH .UF =i F s Tt

oxidizing agent in a redox titration ? T SRR T ¥
(1) KMnO, (1) KMnoO,

Q) B0y | B Ko,

(4) Mohr's salt (4) Tt TEm

90. Soda water contains :

90. wrer are ¥ ufie ¥ -

|

I (1) e SRafFREe
(2)  Nitrous acid I (2)  AEeE Ao

|

I

(1) Carbon dioxide

(3) Citric acid () wfew ufye
(4)  Sulphuric acid (4)  TiH H A

B
LAB-2023 B4 22 R



91. For burns caused by steam or hot water, the | 91. 39 &1 7d i & Fe¥ W ywifas feedd &) gam)

affected part should be washed with : I 11 =fen

(1) dilute NaHCO, (1) ¥ NaHCO,

(2) dilute acetic acid 2) dq ufEfes dfae

(3) cold running water | @) 3T ¥ gt

(4) ice | 4) &

'92. What is the purpose of a fume hood ? 92. 'jﬁ THRREFAL?

(A) To provide a safe place to work with (A) WFE * 99 FH F4 & fou s gifera
chemicals. ™H Y2[ FA F fau

(B) To remove fumes from the air. (B) ¥ A YU F 721 ¥ form

(C) To provide a place to store chemicals. (C) WFHE #1 Bn %1 ¥F fou 97 werm 513

F fom

(D) To conduct experiments requiring high (D) 3=3 A9 F FEVEFA T TE F3
temperature. Ffowr Sote '\'r\ua tart — Examzy

(1)  (B) and (D) only (1) Fa= (B) 3 (D)

(2) (A), (B) and (D) only & ¥ (A), (B) 3 (D)

(3) (A) and (B) only (3) F= (A) 3i (B)

(4) (A) and (C) only (4) F=a (A) 3l ()

93. Fires caused by burning of oil cannot be | 93. q9 & S | i AW F O A T g

extinguished with water. Why is this so ? Thal | TH Hi ® 2

(1) Because oil, being insoluble in water | Q) it & are F st Ifl'{ IH T
and lighter than it, will float on water l TR & FRO IHET W AT ' 3T Fea
and continue burning. =

(2) Because the ignition temperature of oil (2) :fﬁﬁ ?ﬁ”ﬂﬁ?ﬁ g =gd Hiﬂ:l?ﬂ 2 3in
is very low and it will keep burning even e W o TE ST T
when water is poured on it. ' ‘

i a1 T § Y ST S Serd w0

(3) Because oil will dissolve in water and (3)

keep on burning. I .
(4) Because reaction between oil and water (4) _j”a; i _Gm;'; ”mai ”‘
releases enough heat to provide the ﬁGﬁlEI?I E”q;l':' RIC

ignition temperature of oil.

E3E ’3 R8
LAB-2023 5
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94.

95.

96.

97

LAB-2023 Eiuﬁg

The rate at which a solid dissolves canmot =

increased by :

(1) Stirring vigorously.

(2) Adding more of the solid.

(3) Pulverizing or grinding up the soiid =
increase the surface area of the sofic
contact with the liquid.

(4) Heating the solvent to increase the e
of solution because the molecules of butr

the solvent and the solute will mom=
faster.

o

3 F e T B g TE A

-
[F,

1 AR feen w0
) SEH O EeE 4

3 TE F GYS § IAae 39 # 9de &
F1 TR F o 3 ) drEa |

4 o 1 R Fen & fo faemas i v
e, Hite faoaes 3R faeg 2F F
757 9 Taferd 2 |

Which of the following is an exampie or = = F=rerEd 9 9 B Sl 59 1 38§

flammable liquid ?
(1) Salt solution
(2) Vinegar

(3) Water

(4) Ethanol

An ammeter has 20 divisions berweer
Mark 0 and Mark 2 on its sczle.
count of the ammeter is :

(1) 02A
(2 01A
(3) 0.02 A
(4) 0.01 A

[he lessr

What does the term “flammable” —ear -
(1) Producing a strong odour

(2) Capable of catching fire

(3) Easily broken down bv heat

(4) Capable of conducting electrias

S

L

.

1) = F O

21 T
2y TE
4TI

TETTERT F T W fAemE 0 3 feme 2 F A
D FET EE | UHIZT F1 HeqagiE 2

1 k

ra
=

=l

.02 A

Aad
L

4 .01 A

o YIRS F F A9 20

1) 79 T 99 1 e

2} AW THEd § 9ey |

N A H T Y 72 S e

4 IS F T 79§ gen |

Ré
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99.

100.

T P
el
o
el

T T A WY N T, WV Ay F

A sample of concentrated H,SO, is 95% | 98. ¥ H,SO, 1 T& Tq1 a4 & femma 1 059,

H,S0, by weight and its density is 1.8 g/mL.
How many mL of this acid are required to
prepare 1 L of a 1N solution of this acid ?
(1) 35.7 mL

(2) 573 mL

(3) 143 mL

(4) 287 mL

Which gas is the most abundant in the Earth’s
atmosphere ?

(1)
(2)
3)
(4)

Carbon dioxide
Argon

Oxygen
Nitrogen

What are the essential safety requirements of
a science laboratory ?

(A) Eye-wash station.
(B)
(C) At least two entrance/exit gates.
(D) Electrical sockets near the sink.
(1) (A), (B) and (C) only

(

Proper storage space for chemicals.

)
2) (A), (C) and (D) onlyA
(3) (B) and (C) only
(4) (A) and (B) onlyx

. You need to prepare 40 mL of a 0.15 M

glucose solution by taking some of a 0.80 M
stock solution and diluting it to 40 mL. What
volume of the stock solution do you need ?

(1) 75 mL
2) 12M
(3) 53 mL
(4) 6.0 mL
E3E

LAB-2023 i

S ——————————————————— L SRR e e e

P R P e s A, " S s, W | VO ST "L B! L]

25

99.

i 100.

101.

H,S0, ® 3 38&1 ¥ 18 ¢/mL ¥/ =5
HE & IN faemm #1 1 L #m 73 % fom o
e & fdad mL #1 AEvgFa @t &7

(1) 357 mL
2) 573 mL
(3) 143 mL
(4) 287 mL

9wl & agHed § 999 dfyF g § $9 4@
me?

(1)
(2)
(3)

FE4 SEHEEEE
A
ATFqTH

(& A=A

faam warmeren 1 smEvaE gren AEvaEan
FE?

(A) FE-T9 =Y |

(B) WAl ¥ fou 3faq vz o
(C) =8 ¥ &7 2 yaw/f=m gr |
(D) fo% % um fasaf F 7tFz
@ FFd (A), (B) 3 (O)

(2) w9 (A), (C) ¥ (D)

(3) e (B) 3 (C)

(4) & (A) 3R (B)

3T 0.80 M =T Hiet § § F9 %1 A7 31
40 mL 9% Tael FTF 0.15 M TTFS T F
40 mL ¥R FTQ F AEEFA ¢ | AIH BIF
Hiet &t feat we = e ?

(1) 75mL
2 12M

(3) 53 mL
(4) 6.0 mL

(¥ Scanned with OKEN Scanner



102. What is the standard unit of mass ?

(1) Metre
(2) Second
(8) Kilogram
(4) Litre

103. What is the chemical symbol for sodium ?

(1) N
2 K
(3) Na
(4) So

104. Assertion (A) : For preparing sulphuric acid
solution, always add the acid to water very
slowly while stirring vigorously.

Reason (R) : A great amount of heat is

liberated when sulphuric acid is added to

water,

(1) (A) is true, but (R) is false.

(2) (A) is false, but (R) is true.

(3) Both (A) and (R) are true, and (R) is
the correct explanation of (A).

(4) Both (A) and (R) are true, but (R) is not
the correct explanation of (A).

105. Aqueous solutions of the sulphate salts of
three metals X, Y and Z are kept in three
separate beakers. It is found that X reacts
with both YSO, and ZSO solutions, whereas
Z reacts only with YSO, solution. Which of
the following is the correct order of reactivity
of the three metals ?

(1) X>Y>Z
2) Z>Y>X
(3) Y>Z>X
(4) X>2>X
oFi0)

LAB-2023 [t

!
I
|
|

26

102. TAYH F HHF 3HE 71 & 7

103.

104.

105.

(1) wxR

(2) HHe

@) feeimm

(4) R

ifegw =1 TaEf® wdiE 741 ¢ 2
(1) N

2) K

(3 Na

(4) So

afvwaT (A) : I=Hf= vfgs 99 39r 53 ¢
fe, ufaz =1 ot & aga o -+t = 3 S
fe=ma gu famma |
&HMAOT (R) : 7 § FoFfiF 30 fomm @ =
T H I gE Al 2
Giunz\,
(1) (A) 732 #fF3 (R) 32 2
(2) (A)F2 2 AfF3 (R) 73 2/
(3) (A)afw(n)éﬁiwi-,fn(g,,m,;
HE AT 2|
(4) (A) 37 (R) = 79 £, #fF3 (R), (A) #
[el =7 77 2 |

A 9 X, Y 37 7 F gere mmni ¥ w6
faer=i =1 9 w=m- = m Jr=A g = a2
T I I 2 X, Y0, 3 250, 2 faea
& Ty stufFm = 2 w\ts 72 399 veo
foerm & g wfufem w0 2| frsfeafma o 2
W g F sfafEamie 5w
27

(1) X>Y>Z
2) Z>Y>X
3) Y>Z>X
(4) X>Z>Y

RE
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—

06 what is the pH value of a neytra] solution ?
i
0!

(2] 14

] 3 7

@ 10
&

hﬂ What should a lab attendant do if they spill a
chemical ? F e

(1) Immediately clean up the spill

(2) Report the spill to the lab technician /
teacher incharge

(3) Both (1) and (2)

(1)  Water =,——
(2) Kerosene
(3) Petrol

(4)  Alcohol

fet
N \N}uCh Of the fOllOWlng 1S 'not a sale y

Precaution in a laborabary

(1) Wearing a lab coa;.

() Eating and drmklﬂg in the lab
() Wearing gloves L

(4) Wearing safety gog'gles

EiE
B-2099 &%—,

| 106. S faer 1 pH == 31 @9 2 2

| 1 1

2) 14
a7
4) 10

U 91 39 T F=A1 9ifgu ?
(1) A =R F T G H

(2)  TETTIE FFAIEA A FA-ZAATE e

|

|

I

|

l

|

!

|

!1107. fe fodt yanmemen sfEns 4 1 mEs
|

I

|

g M0 TEEE #1 frae #

% 2 (1) 3 (2) = |

(4) I9E H ° FE T |

108. Hifem uig F1 fFad 7= 791 27
(¥ O
@) f=aa
(@) T

-

(4) Tohreid

o

109, Freffeaa & & T T A 8 g HA
T@ e’

2 sy & @1 A
(3) TEH G

I ——————————— P R e

R8
27
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110. Assertmn (A) : For prepa-rlng sodium I 11 . m W TATH ( :"h: RILE ®
hydroxide solution, use borosilicate glass (&8 i S EE, FE AR T Agmy

Pyrex) free of scratches, chips or breaks. =T Ffe 39 TH AT TFn
Reason (R) : If you use a different type of g% ﬁfamqﬁqﬁaﬁq%m;m
glass, there is a chance the temperature l ?I'Hﬁfzﬁ) o
change could cause it to shatter. % 3 IR (R N
(1) (A) is true, but (R) is false. M @ N S

| @ &S AR TR

(2) (A) is false, but (R) is true. g - ‘
(3) Both (A) and (R) are true, and (R) is (3) (A) &R (R) g 99 €, 3k (R), |,

the correct explanation of (A). TE AT i ‘
(4) Both (A) and (R) are true, but (R) is not @) (A) 3R (R) H 99 AfF R)
TE =T TE ¢

the correct explanation of (A).

!
|
|
111. The main buffer system of the human blood } 111. 9H4 m'f' qea faem .
is : | o
(1) CH,COOH - CH,COO~ | (1) CHaCOOH — CH,COO -
(2) NH,CONH, - NH,CONH* l' (2) NHsCONH, - NH,CONH*
l
|
l
|

(3) H,CO;~ HCO; (3) H;}A0, - HCO,

(4) HyCO;-Coz™ (4) HQCOQ ~ 0%

112. Which instrument is used to measure the 112. & -J N 3
mass of an object ? . :ﬁ 3 F fom
(1) Balance | '
(1) dq=m
(2) Bunsen burner 2 -
(3) Graduated cylinder .
()  AvifFa fosi=y
(4) Thermometer a1 -

i
113. Which of the following titrations is possible T
113, % L |
using phenolphthalein as an indicator ? o m: “ Y et #7997 7
T A FH o1 39T gva
| 2 ’ '-.'%Wﬂmémhﬁa?ufﬂ
| ¥ ?@‘q T % wre gewfF 1
! (3) sfifeg ¥ Y ufafe v
| (4)  NaOH % w19 srraerr J

(1) Hydrochloric acid with aniline
(2) Sulphuric acid with aqueous T
(3) Acetic acid with pyridine

4) Oxalic acid with NaOH

El =
LAB-2023 @ 28 q
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117, .
What is the S1 unit of electric current ?

(1)  Way
(2) Ohm
(3) VoIt
(4)  Ampere

118. WaShing soda is the common name for :

(1)  Sodium bicarbonate
(2) Calcium carbonate
(3) Sodium carbonate
(4) Calcium bicarbonate

Read the following passage and answer
questions 119 - 120 : S - 61@'2'7

A solution of hydrochloric acid of concentration
~0.1 mol dm~? was prepared. Before a class
attempted a practical using this solution, a
technician standardized the hydrochloric acid with
sodium carbonate solution. The technician
dissolved 1.06 g of anhydrous sodium carbonate
in water and made up the solution to 100 mL. A
10.0 mL portion of the sodium carbonate solution
was transferred to a conical flask. Three drops of
an indicator were added, and the solution titrated
with hydrochloric acid.

119. What is a possible titre value of the titration ?

1) 152 mL
) 21.1mL
A3) 10.6 mL
4) 95mL

Which of the following combinations of
indicator and colour change is correct ?

120.

(1) Methyl orange, yellow to pink

(2)  Phenolphthalein, colourless to pink
(3) Methyl orange, orange to yellow
(4) Phenolphthalein, pink to colourless

-000-
EzE

| 117.
1)
()
©)
) -
| 118, + 1 ST T A E
) ﬁ;mqmaﬁz
(3) W e
4) e HEFEE
frofafaa Ty H 9T 119 - 120 U9 F -
EUELE

Fizal ~ 0.1 mol dm ~3 ¥F TEEIFANE 3 F s
e T 3EA RS fF F:R w3 faes
dfeam F@Ete faagr ¥ Q" R o
TAFE fF | TR 3 1.06 T frde A
FEMAZ F U F IS 100 mL FAE T =
|¥hfsmmaﬁz‘iratmomLﬁmiarirwm
v ¥ wEEfE e o uw gas 5 A
oo ¢ siv farrm ) e w0
o

119. 58 S99 F fom = syqmm o 7 w9 ¢

(1) 152 mL
(2) 211 mL
(3) 10.6 mL
(4) 95 mL

120. T S ot 7 et 5

L AB-2023Bi2% 30 ‘



